General Linguistics


                                  Chapter Six: Syntax

Aims:

1. Familiarize students with different types of grammar.

2. Generative grammar and phrase structure rules.

 I. Definition  

 Syntax, derived originally from Greek, is made up of two morphemes: syn-(meaning together) and –tax (to arrange), hence the literal meaning “a setting out together” or “arrangement”. In linguistics, it refers to the study of the rules governing the way words are combined to form sentences in a language, or simply, the study of the formation of sentences.
We have already considered two levels of description used in the study of language (phonetic and morphological). With these descriptions, we could characterize all the words/phrases of a language in terms of their phonetic and morphological make-up.

However, we have not yet accounted for the fact that these words can only be combined in a limited number of patterns. We recognize that the phrase the lucky boys is a well-formed piece of English, but that the following two phrases are not at all well-formed.
*boys the lucky                *lucky boys the

So we need a way of describing the structure of phrases and sentences which will account for all of the grammatical sequences and rule out all the ungrammatical sequences. Providing such an account involves us in the study of grammar.

II. Types of grammar

· Traditional Grammar and the prescriptive approach: Grammar as ‘linguistic etiquette’, i.e. the identification of the best/proper structures to be used; 

· Structuralism and descriptive approach: Grammar as the study and analysis of the structures found in a language, with the aim of establishing a description of the grammar of a particular language. 

· Universal grammar and Generative approach: Grammar as a form of internal linguistic knowledge that operates in the appropriate production and comprehension of natural languages. 

 2.1 Traditional Grammar
    Traditionally, a sentence is seen as a sequence of words. Whether a word can occupy a certain position in a sentence depends on its grammatical category rather than its meaning. Therefore, the study of sentence formation involves a great deal of the study of the word in terms of parts of speech, subject predicate, number, gender and case. etc
These categories can be discussed in isolation, but their role in describing language structure becomes clearer when we consider them is terms of agreement. For example, we say that the verb likes ‘agrees with’ the noun boy in the sentence The boy likes his dog. This agreement is partially based on the category of number, that is, whether the noun is singular or plural. It is also based on the category of person, which covers the distinctions of first person, second person and third person. The different forms of English pronouns are usually described in terms of person and number, in that we have first person singular (I), second person singular (you), third person singular (he, she, it), first person plural (we) and so on. So, in the sentence The boy likes his dog, we have a noun boy, which is third person singular, and the verb likes ‘agrees with” the noun.
In addition, the form of the verb must also be described in terms of another category, that is of tense. In this case, the verb (likes) is in the present tense, which is distinguished from the past tense (liked). The sentence is also in the active voice, with the boy doing the liking. An alternative is the passive voice in which the liking is done to the boy, as in The boy is liked by his dog.
Our final category is that of gender, which helps us describe the agreement between boy and his in our example sentence. In English, we have to describe this relationship in terms of natural gender, mainly derived from a biological distinction between male and female. The agreement between Boy and his is based on a distinction English makes between reference to male entities (he, his), female entities (she, her), and sexless entities, or animals when the sex of the animal is irrelevant (it its).
Since traditional grammar is based on the rules of Latin, it is quite another thing to go on to claim that the structure of English sentences should be like the structure of sentences in Latin. The view of grammar as a set of rules for the ‘proper’ use of a language may be best characterized as the prescriptive approach.

2.2 Structuralism

It may be that using a well-established grammatical description of Latin is a useful guide for studying some languages (e.g. Italian or Spanish), is less useful for others (e.g. English), and may be absolutely misleading if you want to describe some non-Europe languages. This last point became clear to these linguists who wanted to describe the structure of North American Indian languages at the end of the nineteenth century. The categories and rules which were appropriate for Latin grammar just did not seem to fit the Indian languages encountered. As a consequence, throughout the present century, a rather different approach has been taken. Analysts collect samples of the language they are interested in and attempt to describe the regular structures of the language as it is used, not according to some view of how it should be used. This is called the descriptive approach and it is the basis of most modern attempts to characterize the structure of different languages.
IC analysis (Immediate constituent analysis (直接成分分析法)
Let’s take a look at the following sentence:

The dog followed the boy.

We can identify five words (constituents). How do those five constituents go together to form constituents at the phrase level?
Structural linguists realize that a sentence does not only have a linear structure, consisting of individual words one after another in a line; they also have a hierarchical structure, made up of layers of word groups. So the analysis of a sentence in terms of its immediate constituent --- word groups (or phrases), which are in turn analyzed into the immediate constituents of their own and the process goes on until the ultimate constituents are reached is called IC analysis.
So the above can be diagramed like:

(((The) (dog)) ((followed) ((the) (boy)))).  or more clearly in labeled tree diagram.
       The       dog           followed          the          boy.
                                                                                      
However we can also find problems with IC analysis. First constructions with discontinuous constituents will pose technical problems. E.g.
Is John coming?


Second, the most serious problem is that there are structural ambiguities which cannot be revealed by IC analysis. E.g.

The    love     of        God

 Det     N       Prep      N

The phrase may have two meanings: the love given by God; the love for God

2.3 Generative grammar
Since the 1950s, particularly developing from the work of the American linguist Noam Chomsky, there have been attempts to produce a particular type of grammar which would have a very explicit system of rules specifying what combinations of basic elements would result in well-formed sentences. This explicit system of rules, it was proposed, would have much in common with the types of rules found in mathematics. This mathematical point of view helps to explain the meaning of the terms generative, which is used to describe this type of grammar. If you have an algebraic expression like 3x+2y, and you can give x and y the value of any whole number, then that simple algebraic expression can generate an endless set of values, by following the simple rules of arithmetic. Then there must be a set of explicit rules which yield those sentences. Such a set of explicit rules is a generative grammar.
2.3.1 Some properties of the generative grammar

A grammar of this type must have a number of properties, which can be described in the following terms.

a. “all and only” criterion: The grammar will generate all the well-formed sentences of the language and fail to generate any ill-formed structures.

b. It has limited number of rules, but it can generate an infinite number of well-formed structures.

c. recursion: The rules can be applied more than once in generating a structure. Basically, the grammar will have to capture the fact that a sentence can have another sentence inside it, or a phrase can have another phrase of the same type inside it.
e.g. This is the dog that chased the cat that killed the rat…
       The book was on the table near the window in the hallway beside the…
  2.3.2 Deep and surface structure
This grammar should also be capable of revealing the basis of two other phenomena: first, how some superficially distinct sentences are closely related, and second how some superficially similar sentences are in fact distinct. 

For example, Charlie broke the window

                      The window was broken by Charlie.

The difference between them (active vs. passive) is in their surface structure that is the syntactic form they take as actual English sentence. However, this difference in superficial form disguises the fact that the two sentences are very closely related even identical, at some less ‘superficial’ level. This other ‘underlying’ level, where the basic components share by the two sentences would be represented, has been called their deep structure. 
In his book Syntactic Structure publish in 1957, Chomsky proposed a linguistic model consisting of three components:

                                Deep                                           Surface

                               structure                                      structure

    The phrase structure component has phrase structure rules as follows:
S → NP VP

NP →  (Det) (Adj) N (PP) S

VP →    V (NP) S

AP →   A (PP) S
PP →  P NP

Det →   the, a, etc..

N  →   man, ball, etc.

V  →  hit, took, etc.

    That i , a sentence such as The man hit the ball may be rewritten as a noun phrase the man and a verb phrase hit a ball, the verb phrase hit a ball as a verb hit and a noun phrase a ball, and the noun phrase the man, or a ball, as a determiner the, or a, and a noun man, or ball respectively, as illustrated in the following tree diagram.

                                                     S


                             NP                                       VP


               Det                N                  V                           NP


                                                                            Det                 N


               The               man               hit                a                    ball.

It is quite similar to the tree diagram in IC analysis. In IC the tree diagram is static. It only shows the relationship between construction and constituents. While phrase structure rules is dynamic. It shows that the definite number of rules can generate indefinite number of grammatical sentences.

From the following example, we can find that phrase structure rules can be used and reused to an endless sentence. This also captured the recursion of the grammar.
          S
          

NP             VP


          V               S


                   NP           VP


                            V                 S

                                         
                                          NP          VP


                                                     V              NP
John    said Cathy thought George helped      Mary.
2.3.3Transformational rules

Phrase structure rules generate the deep structure of the sentence. The sentences we actually see and hear are the surface structures. From deep structure to surface it should undergo transformations. In the following examples
i. George helped Mary yesterday.

ii. Yesterday George helped Mary.

We can think of the yesterday element as having been ‘moved to the beginning of the sentence in ii. In order to do this, we need a set of rules which will change or move constituents in the structures derived from the phrase structure rules. these are called transformational rules. Essentially what they do is take a branch of the tree away from one part of the tree diagram, and attach it to a different part. Here is an example of a movement transformation.
                   S                                                           S

        NP              VP                                  Adv     NP          VP

                 V       NP       Adv                                           V         NP

(George helped Mary yesterday.)          (Yesterday George helped Mary.)

The rules would, of course, specify which constituents can be move, from where and to where.

Let’s take a look at a verb-particle construction.
i. Doobie picked up the magazine.

ii. Doobie picked the magazine up.

We intuitively recognize that these two sentences must come from a single underlying source. Let us propose a single tree diagram source which produces a string of elements. Like: NP Verb Particle NP Under circumstances like these, let us then propose the optional transformation called ‘Particle Movement’, which takes that description and yields the structural change to NP Verb NP Particle.
By using this simple transformational rule, we have provided the means for explicitly relating the two structures in sentences i and ii above as ‘surface’ variations of a single underlying structure. It may not seem much, but this type of transformational analysis solved a number of tricky problems for previous syntactic descriptions.

Exercises:
1. In what ways are these expressions ambiguous?

a. An American history teacher.
b. Flying planes can be dangerous.
c. The parents of the bride and the groom were waiting.
2. Can you provide four ‘superficially distinct’ sentences which would each have the same ‘underlying’ structure as one of the following sentences?

a. Lara was arrested by the police.

b. She took her coat off. 

c. Someone stole my bicycle.

d. I told him to turn down the volume.

3. Which of the following expressions would be generated by this phrase structure rule: NP → Det (Adj) N?
  a. a radio   b. the rusty car      c. a new student      d. the screwdriver
4. Which of the following structures can be changed via the Particle Movement transformation?

  a. He put down his glass.     b. She threw away her dress.     c. he pulled off his shirt.

  d. They jumped in the pool.

5. Please give tree diagrams of the following phrases and sentences.

a. The boy helped George today.         
b. George saw the dog with Mary.
c. The boy saw the man with the telescope.  
d. The very old teachers you met yesterday greatly fear the blackbirds.

e. more intelligent administrators       
f. Robin will pass the exam.

g. What will Susan do?                
h. Leslie and Robin make a good team.

i. The teacher asked if the students understand the lesson.
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